EARAROBEEIERT — 2 N— IBISH —F

20175F9A3H (H) 2E#FE12H

SR N

5

CES)

[($57E] Fikb

ECEREECE

Z (%) 1800M R

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N M. F4—0 -50. — . . BERRg— (EX)
N BEEVEE2 o2 [ 1(53))1 3-3 33.4| 775 | 1 (4E2) el
LW—F—=29 T BiT7oTaN—Ya FiE =T
5z # 2 | AEEE 1:50.1 5-6 33.3| 77.6 | 3 486 | EARR ()
214 XLJRG7 Y 1— 54.0 (7 4%) (=) |BERSH LY
LxLThANAN B:T7— TY X J—HrTr—LA
= s 2 | KEHRYR 1:50. 8-7 33.0]77.9 | 7 446 | DNEETESA (538)
36| 77 by IR 54.0 (7€) (=) | @) *vOybT7—L
L=F—=29 7 BiARRT—=)b (B) #BA3—-RKL—va>aE77
IS 4 o2 | HBfE 1:50.6 2-2 34.1| 67.8 | 2 484 | FREREZ (%)
4111 | 7*VABIALRbE 540 3) (=) |, @) TU—>T7—4
L2 kAT UE—2 BITIACTR HET77—L
o o2 | EHEEH 1:50.8 3-4 34.1|66.2 | 4 480 | FHEEX (EH)
s o 7O FAE— 54.0 M ) | B HAL-xH-2
R:xF1=gr—X B:wiN "HET77— L4
i 5 o2 | SEAA 1:50.9 5-7 33.9 | 67.3 | 11 440 | IR (EH)
6/5/9FRETIT PSR 54.0 (3/4) (=) | B EvILyETr—L
RTANWNTTFHF— BRAXHAYT EvdlLyRT7—L
o o2 | BEEA 1:50.9 8-11 33.3| 68.8 | 14 | 446 |=iEEE (E#)
d : FAGE 2% 54.0 7 6) (o) |HAEA
R:IA>T7Fyoa BLAFFT7IINL E&HL BRI
7 s 2 | AEESY :50.9 5-4 34.2| 64.5 | 13 | 448 | &HEKESE (EH)
8 3 FTRAH—L—1j 54.0 (NF) (=) FRRE
RixA21=Gr—2 B:iby—INT vl HET7—L
o FiElE :51. - . . SR (ER
9 2 Ny MY Z R 4 2 an 1 (541)6 1-1 35.3| 50.0 | 10 (410) E%Eﬂz
LYK YTYRIR BiLFo—4 TR
i # o2 | ENEAS 1:52.0 8-9 34.5|53.2 | 15 | 516 |fREEE— (XKH)
10| IAERTOA 54.0 2172 ) |mEEE
R:Er/n7Ooq4 B:Y4 s UTILAE =K BE
e 4 2 | HIL#ESA 1:52.0 8-9 34.6| 52.4 | 8 510 | AEME (FH)
1KY 4| T2V 2T 75— 54.0 (g Oy | ) Aems
LixLveH/XbE BTFRIAVFo—L Pl e
s 4 — 4 2 | FIBEX 1:52.4 12-11 34.7| 485 | 6 474 | FIEBEZ (EH)
12| 7|13 2Y=TFA b 54.0 (2 1/2) (=) |[HimRockRacing
L:Z2bhOrg)a—> B:TULEIXISTL BB ALS
= . s 2 | AAHEF 1:52.4 15-15 34.1] 52.3 | 12 518 | =/ BHF (EH)
13|58 VT 717 54.0 (5E) (o) | AR
L:7A7% B:NhyE—-E—F FHBE%RE
= o o . # 2 | HEEE 1:52.6 12-13 [ 34.5| 48.6 | 9 442 | FEEX (EH)
148|15| 77 1 — XA~ —~ 54.0 (1 178) o |mEET
L/ TTUAN BS54 —X5T 1> XF A
i o2 | ZHE2 1:52.9 14-14 | 34.8| 43.9 | 5 480 | KTTIETE (3E7)
151712 Y/ aFxFILT 54.0 (1 3/4) (=) 1k 2 A=
AT =TI B:NyE-UJIZXhH HET77—L4
@ 21 L
£ 46.6-33.8
NA>Z4 L | 12.8-11.9-12.4-13.1-13.3-12.8-11.8-10.6-11.4
® 1—F—@EBIERL
13—7F-
Pal=5F=
== 2-1-(5,10) (3,9,14) (4,7,6,11)-(15,13) 12-8
43—+ — 2,1-5(3,10)14(9,6) (4,11) (7,13)15,12-8
[ N5
B OB 5 340M | | 74 K 5-14 4601 | | # = 3-8 840/ | | 3EfE 5-6-14 3,610
# B 5 150M 5-6 750M B = 5-14 1,080 3EE 5-14-6 15,760H
14 180M 6-14 1,240H B H 5-14 1,970
6 280M

ABICOVWTRDTEEERROODE. TR LIV,




